
REŠITVE NALOG IZ PREJŠNJE URE: 

Učb.str.84 

1 1 this evening   2 tonight   3 tomorrow  4 tomorrow morning   5 tomorrow night  

 6 at the weekend   7 on Sunday   8 next week   9 next month 10 next summer  

 11 in August 12 next year 13 in 2035 

2B 1 To the cinema. 2 She’s babysitting. 3 On Friday. 4 No, she isn’t. 

4A (več možnih rešitev glede izbranih časovnih izrazov!) 

2 I’m getting up early tomorrow morning.  

3 Ben’s babysitting at the weekend.  

4 We’re going to Spain next summer.  

5 Mel’s playing hockey on Saturday.  

6 My friend’s coming here in July. 

 

*4B 

A: Are you free tomorrow evening?  
B: No, I’m playing basketball after school tomorrow. Why?  
A: I want to go to the new cinema in Albert Square.  
B: What about Friday? I’m free on Friday.  
A: I’m babysitting on Friday. Are you doing anything on Saturday?  
B: No, I’m not. Why don’t we see a film on Saturday night?  
A: Great. I’ll text you on Saturday afternoon. 
 

DZ str.54 

1  

2 in September  3 tomorrow afternoon 4 this evening  5 on Sunday morning   6 next month  

7 this year  

2  

2 ’s sleeping; tonight 3 ’s going shopping; tomorrow morning 4 are meeting; tomorrow 

afternoon 5 ’s going to a party tomorrow evening 6 ’s getting; tomorrow night  

3  

2 Where’s she sleeping tonight?  

3 Who’s going shopping with Rachel?  

4 Where are Rob and Louise meeting her?  

5 Who’s having a party on Saturday? 


